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1. Which memory chips require running a small program if you want to write to them?
a.  flash
2. DRAM chips are denser than SRAM chips
a. TRUE
3. What is programmed in an FPGA? 

d. all of the above

4. Which of the following describes the failure rate (() over the lifetime of an electronic system?
d. bathtub curve

5. Memory access time refers to
a. The amount of time it takes to read valid data
6. Which of the following can provide active-high combinational outputs?
e. (b) and (cd) only

7. What is the full page read burst length for a MT48LC64M8A2 SDRAM?
b.  2K

8. Reading 4 memory locations from MT48LC128M4A2 SDRAM with a 100 MHz clock takes how much time? (Assume the CAS-latency = 2.)
b. 60 ns

9. During the execute command cycle of a SST28SF040A Flash memory, what data is written to the chip during a sector erase?
a.  D0H
10. What is the complete part number an IDT7164  SRAM in a small outline package?
d.  none of the above

11.  What is the data setup time of an IDT7164S25 SRAM when conducting a write operation? 
c. 13 ns

12.  You have a combinational logic design with 7 inputs and 4 outputs. The minimum size LUT you could use is

c. 128 X 4
13.  OTP FPGAs are programmed on powerup using a serial flash memory chip.
b. FALSE

14.  A microprocessor is interfaced to IDT7164S/LS SRAM. The microprocessor WRITE output is connected to the WE input on the memory chip. The WRITE output is asserted low for at least 11 ns during a write operation. Which version of the SRAM will reliably work with this microprocessor?
e. the SRAM cannot be reliably interfaced to the microprocessor

15.  A 512K x 16 memory system is built using 64K x 4 memory chips. How many memory chips are required?
c. 32

16. How many memory locations are in each CLB of a Xilinx Spartan FPGA?
b.  40

17. A system is composed of three subsystems with failure rates of (1 = 200 FITs, (2 = 500 FITs  and (3 = 300 FITs. What is the system MTBF?
d. 1,000,000 hours

18. Two thousand memory chips are operated for 500 hours. Twelve of them fail. What is the MTBF?
a.  83,333 hours
19.  An eletronic circuit has three memory chips (with ( = 175 FITs), a microprocessor (with ( = 500 FITs) and two PALs (with ( = 250 FITs). What is the reliability after 90,000 hours?
c.   87.2%

20.  One of your fellow students says “my windows VISTA operating system in my laptop is stored in volatile memory”. Do you agree?
b.  NO


